EARAROBEEIERT — 2 N— IBISH —F

201296308 (+) 2@ H

Gl Y >%3mtE 5007 TF

(5] T8

‘ [R1%] & ‘ [REBE] — | & (&) 17000 B

[A~&£] 17 :7,200,000  ~ 23 :2,900,000 § 337 :1,800,000 43 :1,100,000 3 5 j& :720,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R + 3 | REIE 1:46.1 1-1-2-2 | 37.8| — 4 530 | ETERE (i)
117l9| ZEAR—1 * 54.0 =) (1) | BERL
R:T77RUILT BRE2—ATI1=/8— AR
P L P, . € P . 80— - FEER (EH
2ol7|8| TATNTZy R R ) (}‘\‘3‘; A 1 tg? = =
R:xAIZT7—2 BIHFAFIATNL HET7—L4
° 5 o5 | EIEF 1:46.8 7-6-4-4 |38.4| — 8 470 | KX (FH)
3|8l10) Fr—LKITT 0 @ +6) W) s h - TY—F-X - 124
VW= F v —L B:RT1—RIILT RN
— — o4 | AEFEN 1:46.9 9-9-5-4 |38.3| — 3 442 | BAKERF (i)
415]5 Ta4T7784 7 57.0 ! (3/4) (+6) 7_1:\:'(7\/1|~
RF—TATN—F BiYALE Ny R NeD 7=
®@YN—XKZ-1)> Y # o4 éigl_a‘gmu (11;417/.;) 11-11-8-8 [38.2| — | 10 | 48 f%.;fég (&R
L:RE—YLIO—X Az 2 | muis
. N R E : _9-7— _ 5 5
Ly RFTHINF— [B] H o4 gﬁ%w 1747t; 10-9-7-6 | 38.4 5 4_86 g*ﬂgﬁ é%ﬁ)
R:T7RYAYERR B:ZRTUy hXAK (=2) =KE #E/H
N FLE—BB : -0-1- - 2R (ER)
HLJZ 43 na 1(74{:>2 2-2-1-1 | 39.3 6 %u)) SHEN (
R:xA1=ZGr7—R B:Ly KIT palrae]
2 > 3 | NERE 1:47.5 6-6-8-8 |38.6| — 2 408 | EEIEH (FEX)
VIS SRR (1 3/0) ) | ) xv0yhar—n
RV RYTYRAIR B:YFHINFTH YD [5E e ]
s argy . o4 | BEEMZ 1:47.9 4-4-8-10 | 39.1| — 7 534 | HHEK (ER)
911 I- 2 XHo1> 57.0 (2 1/2) (+10) (#) =
¥ ThANAN BT/ vO> EZ: N
> s # 3 | EHEBZ 1:48.2 3-3-5-6 [39.7| — 9 466 | BEREEL (5ER)
10/8[11| *T>avT7IHR A51.0 (1 3/4) (-p) |MAKEFRE
L:TANRTyYa BAMO-—vIvy pui e}
S = 4 5 | Sl 1:50.9 5-5-11-11 | 41.5 | — 11 510 | EBMHEA (EH)
N A A §7.0 (51 %) o) |EEET
RZRFAT-NE Bt h/TTT— A 2=
@ 21 L
£ 51.0-38.2
NA>Z4 LA | 6.9-10.9-12.0-13.2-12.1-12.8-13.4-12.2-12.6
® 1—F—@EBIERL
13=7r= (¥9,7)11-1,4,2,10,8,5,6,3
23—F— (¥9,7)11,1,4(2,10)8(5,6) 3
Jo=5r= 7-(9,8)10(11,5)6(1,2,3) -4
ASl=5F= (¥7,9,8) (5,10) (11,6) (2,3)1=4
[ N5
B 9 1,340 714K 8-9 370M e E -7 740M JEE 8-9-10 4,340
# B 9 300H 9-10 3,850 B E 8-9 750 3EE 9-8-10 30,1009
8 110 8-10 530M B H 9-8 2,500
10 410M

ABICOVWTRDTEEERROODE. TR LIV,




